H £ 0l & AF & S

20243 =0let 2SS0 I=SESH AH

Al A

A S
M LSS MBOIT
o9l o220 (Cl220II2SHaH) (o) &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
M S A} 1,080,366 1,080,366 0
= 857,263
Al 214,315
- 8,788
HASES MEHEXIA 1,080, 366 1,080,366 0
= 857,263
Al 214,315
- 8,788
o230 X (ASSHIIZSLSH) 1,080,366 1,080,366 0
= 857,263
Al 214,315
- 8,788
2 HAIE 1,071,578 1,071,578 0
= 857,263
Al 214,315
101 eI H| 9,000 8,000 1,000
= 7,200
Al 1,800
M IIRINZ2Z2XsEs 9,000 8,000 1,000
ZSUHAIY PRE=X Q| 9,000
= 7,200
Al 1,800
201 LEr2 | 13,111 12,791 320
= 10,489
Al 2,622
01 ArR22ltl 13,111 12,791 320
ZSUHAIY Let+ZH| 1,500
= 1,200
Al 300
AZZ0AIY 2Z 3| 10,411
= 8,329
Al 2,082
2SR EM&sE
50,000 x2H * 123 1,200
= 960
Al 240
202 Ot 17,000 18,320 A1,320
= 13,600
Al 3,400
01 =WO4 bl 17,000 18,320 A1,320
olzz0aelAt =L 13,000
= 10,400
Al 2,600




SN MESI
B HASE MEBOIFK
CHel: Q2SO (ARB0IZSEEH) (choy: @2
SA - B GR(31) - HIRAY - BES il &k e HlmS2
o220 sl 4,000
= 3,200
Al 800
203 R =& 800 800 0
= 640
Al 160
03 AR ZFXHR XY 800 800 0
I Z ALY HREFE 800
= 640
Al 160
307 QI2H0| A 1,031,667 1,031,667 0
= 825,334
Al 206,333
01 9= ¥ 3I=H| 1,031,667 1,031,667 0
S==0HAIEI 787,116
= 629,693
Al 157,423
MItel2=0 Al ARSI 41,000
= 32,800
Al 8,200
AL MEF T 203,551
= 162,841
Al 40,710
SI2=0 oldldl 8,788 8,788 0
801 oilgId| 8,788 8,788
01 LEro8ILl 8,788 8,788
(:{1=1]=] 8,788




